PROFESSIONAL EXAMINATION BOARD
§ Profoceionl Group - 2 (Sub- Group -3) Combined Recruitment
reb@mmmqtion Test - 2018 for Kanishath Apoorti officer,
board Matasya nirikshak and Other equivalent Posts
28th Mar 2018 02:00PM

Topic:- General Studies

1) One kilobyte is equivalent to? / T® f¥dlarge Tuged 8?2
1. 1042 bytes/ 1042 §IgcH

2. 10000 bytes/ 10000 STgeH
3. 1000 bytes/ 1000 STScH

4. 1024 bytes/ 1024 §IgcH

Correct Answer :-
« 1024 bytes/ 1024 digcH

2) How many triangles are there in the following figure?/ 5% sefa # Rys $t wien fFal 82

1. 14
2.12
3.16

4. More than 16/16 T 3fs

Correct Answer :-

« More than 16/16 ¥ 3if¥®

3) DIRECTIONS: In the following question, a series of figures are given. Select from amongst
the alternatives one set of groups into which the figures can be classified./ AT Uy ¥,

an?ﬁ;‘faﬂwej@mﬁnﬁélﬁm‘fﬁﬁw & TP 9g=d BT 994 ) orad snpfadl &) arffed fearwn
qHargl

LIC)| D | B || £ |[@|[=]| A

1t 2 (3} (3} (5} 8 n 8 &

1.7,2,9,6; 5,1,3; 4,8
2.5,9,4,3; 1,2,6; 7,8
3.2971; 3,46,;5,8
4.1,2,5,9; 3,4,6; 7,8



Correct Answer :-
« 1,2,59; 3,4,6; 7,8

4) DIRECTIONS: Find the related number from the given alternatives. /3= ﬁ‘ETrEﬁWlﬁﬁﬁ
Heiftra we I e |

4:32::?:256

1.6

2.4

3.32

4.10

Correct Answer :-

5) Select the correct combination of mathematical signs to replace * signs and to balance the
following equation. /3T T Tl &I Wferd H3 & faw * fagl & RIM W TR Jadi o get gare
A

9*%¥3*x3 %3 %6

L-++=

6) The ratio of the present age of Manoj to that of Wasim is 3 : 11. Wasim is 12 year younger
than Rehana. Rehana’s age after 7 year will be 85 year. What is the present age of Manoj’s
father, who is 25 year older than Manoj?/ IS 3R 1" &Y aHT= 3Tg &7 3rguTd HH=: 3:11 g1 afiH,

%_‘en:r@r 12 ¥ Bler g1 7 af a1g Yo 1 3y 85 a9 gRf | 7 & far &) aduH g FT g, St A & 25 qf 98
[

1. 43 years/43 G
2.61 years /61 Gl
3. 67 years /67 ¥

4. 45 years/45 ay

Correct Answer :-

e 43 years/43 ¥

7) A merchant sold two radios for ¥120 each. One was sold at a loss of 25% of the cost and
the other was sold at a gain of 25% of the cost. Determine the total amount of gain/loss in

the entire transaction.lwmﬁmﬁﬁmaﬁ %120 WITaT | ﬁmﬁﬁwﬁ 25% BN W 3R
A B 25% & ATH TR I9dT 8 | Irgul TG A anv/eT &1 Fa i g1a Fiforg|

1. Loss ¥16/316 &I g1



2. Loss of $15/315 &I g
3. Gain ¥15/315 BT AH

4, Gain %16/316 DI dH

Correct Answer :-

« Loss ¥16/316 &I gl

8) A boy can swim in still water at a speed of 10 kmph. If the speed of the current would have
been 5 kmph, then the boy could swim 60 km /UF ASHI Udoa # 10 frfiufa e Fiafad v
o1 1 afe Rt 1 iy 5 fh wf der @ <, as@1 60 fomtft St gt TP ghdr gl

1. Upstream in 6 hours/4RT & faudia fazm & 6 g o
2. Upstream in 4 hours/YRT &1 faudia feen d 4 g &
3. Downstream in 4 hours/URTHﬁﬁ‘\’nﬁ4 ark:|

4. Downstream in 12 hours/%l'l'\"[ﬁ cand 12 9¢H

Correct Answer :-
« Downstream in 4 hours/%I'RTﬁ A4 H

9) Pavan walked 30 meters towards West, took a left turn and walked 20 meters. He again
took a left turn and walked 30 meters. He then took a right turn and stopped. Towards which
direction was he facing when he stopped?/ Ua+ Uiy &t 3R 30 Hiex 94, ﬁT{EITQH?;TGﬁ? 20 Hiex
TaT| 98 fihe A 91 geT 3R 30 Hiex gan a8 fihe o1¢ 431 3R T 1| 919 98 © 1 df 3uPT §J frd fazn 3t ok
g7 ?

1. Data inadequate/ STH®R} 3UATT §
2. North/ 3R

3. East/ Uj

4. South/ aferor

Correct Answer :-
« South/ gf&mr

10) If 36 men can dig a trench 200 metres long, 3 metres wide and 2 metres deep in 6 days
working 10 hours a day, in how many days, working 8 hours a day will 10 men dig a trench

of 100 metres long, 4 m wide and 3m deep./ (¢ 36 AT UfdfeT 10 GeT HH FT 6 fe7 H 200 Hez &t 3
Hiex 1Y 3R 2 Hiex T @ @ie T &, @ 10 afed ufafe 8 6¢ S1H #¥ 100 Hiex @dl, 4 Hiex At v 3
ez Tedt @ré fran o & wie wwa 82

1. 54 days/54 f&A
2. 27 days/27 faq
3.15 days/15 faA
4.20 days/20 fa7

Correct Answer :-

« 27 days/27 f&a



DIRECTIONS: Solve the number series given below./ fAadr: Tfﬁﬁﬂém goft ?ﬁwﬁl
78, 56, 30, ?

1.0

2.25

3.20

4.15

Correct Answer :-

« 0

12) DIRECTIONS: Find the missing term in the given matrix./ fAa=r: aﬁﬁﬁwﬁwmmaﬁl

4 |6 3 |?
24 |576 15 |225 |
1.12

2.3

3.4

4.5

Correct Answer :-

13) DIRECTIONS: Solve the number series given below./ﬁa‘\’r: ﬁﬁnﬁw oft Y gA B}
12,17, 27, 32, 42, ?

1.52

2.48

3.54

4. 47

Correct Answer :-

14) Introducing Kamla, Mahesh said, “Her father is the only son of my father”. How was

Mahesh related to Kamla?/ mﬂﬂﬁ?ﬂmﬁ@ﬂ%‘ﬂméﬁ, "ﬁ%ﬁmﬁ%ﬁm%sﬁ%gﬁw
TR HHAT A 5y yoR grfRa 82

1. Brother/ mé
2.Son/9A
3. Uncle/ =T

4. Father/ foram

Correct Answer :-

. Father/ﬁ'dT



15) 200 liters of a mixture contains milk and water in the ratio 17 : 3. After the addition of
some more milk to it, the ratio of milk to water in the resulting mixture becomes 7 : 1. The
quality of milk added to it was:/ 200 dlex & U® fyor & gu auT it 71 3rqura 17 : 3 3| My d oo ok
g¥ e & SuRid uRomd Riyor & a8 Srqud 7 : 1 @Y ST | gy B fha-it wre fysor § fyerd wde

1. 40 liters/40 TR
2. 60 liters/60 dic?
3. 20 liters /20 dicx
4. 80 liters/80 dic?

Correct Answer :-

« 40 liters/40 e

16) A 4-digit number is formed by repeating a 2-digit number such as 2424, 1212 etc. Any
number of this form is always exactly divisible by:/ T® TR @] B T&IT B! 2 3H] Bt [RIGHRT §RT
TATIT T ], S 2424, 1212 31 | 30 TSR &1 $i3 1t e a3 A fvw 3 wea yfa: faurfa ghft?

1.7
2.11
3.13
4,101

Correct Answer :-
« 101

17) Seven puppies A, B, C, D, E, F and G are standing in a row. G is to the right of D and to the

left of B. A is on the right of C, A and D have one puppy between them. E and B have two

puppies between them. D and F have also two puppies between them. Who is exactly in the

middle? /9d A A, B, C, D, E, FIR G U iR A WS 81 G, D F € MR dUTB P a1S 3R 81 A, C F aTs

;2:'%%, A 3R D & §a ta fUcem 81 E 3R B & dHa &) fied &1 D 3R F 91 & da o oft 3t et 81 Slr i &
?

1.A
2.C
3.G

4.D

Correct Answer :-
« D

18) Anil invests ¥ 3,000 in a business for 3 months, Bijoy invests ¥6,000 for six months and
Charu invests 24,000 for 12 months. What is the difference between the profit share of Bijoy
and Anil, if the profit for the year is 33,300?/ 3if</el To Sga@ # 3 HEIH & oW € 3,000 FAU AR,
fawira 6 wgH & fire 2 6,000 3R T1% 12 9 & firT 2 24,000 A #v4 €1 afe af &1 $a @y 233,300 7,
o faei o orffre & oTH & A o SR AT 82

1.% 3600
2.3 2700
3.3 3027

4.3 3000



Correct Answer :-

« %2700

19) In a certain code BEND is written as 5%7@ and DREAM is written as @2%48. How is MADE
written in that code?/ afe f&ft fAfdra e &, BEND #1 5%7@ fead € 3k DREAM & @2%48 ferad §1
i e § MADE &1 3 ferar simeam?

1. 85@%
2. 84%5
3.84@%

4. 8@4%

Correct Answer :-

20) In a certain year, the average monthly income of a person was Rs.3,400. For the first eight
months of the year, his average monthly income was Rs.3,160 and for the last five months, it
was Rs.4,120. His income in the eighth month of the year was:/ﬁﬁ@ﬁﬁ&ﬁﬂﬂm
3T %, 3,400 ft| 39 99 & YW 8 HEH A IS 3N AR 3T ¥.3,160 TUT 3ifaw 5 AL A IS9P AP
3Tg P71 3 d F. 4,120 YT| T4 & 33 A A ITP! Mg At

1.Rs. 5,080
2.Rs. 5,520
3.Rs. 15,520
4.Rs. 3,160
Correct Answer :-
- Rs. 5,080

21) The total area of a circle and a square is equal to 2611 sq.cm. The diameter of the circle is
42 cms. What is the sum of the circumference of the circle and the perimeter of the square?/

TS g9 3R 97 &1 $a &% 2611 T A F RTR B 1 70 T A 42 At 31 790 FY uRkfy 3k avf & ufkmmg &t
TR T 82

1. 380 cm/380 I
2. 280 cm/280 T
3. Cannot be determined/fRuiRa &l foar S e
4,272 cm/272 T

Correct Answer :-

« 272 cm/272 It

22) selling price of 9 objects is equal to the cost price of 12 objects. Find the profit or loss

percentage. / 9 I%] &1 fIhd Yed 12 9% & 9- Tod & RI&R g| ATY TT BT BT % FId Piford |

1 1
1. 333 % profit/333 % <H
1 1

2. 35% % loss/352 % B



3.21% loss/21 % g1

4. 38% profit/38 % Y

Correct Answer :-

1 1
o 333 % profit/333 % Y

23) What must be the least humber of the students in a group such that they can be arranged
in lines of 10, 15 and 25 independently and can also be arranged in a square as a group?/U&®

e ¥ faenfiat & <gAaw Wen «n gt TRy, aife 3= 10, 15 3R 25 F iR A Tadd = & sgafRua faar
T 9P Td Afed U 9 TP a1 & AR A W srafRya fear sr a2

1.1,600
2. 3,600
3.600
4.900

Correct Answer :-
« 900

24) The students in three classes are in the ratio 4 : 6 : 9. If 12 students are increased in each
class, the ratio changes to 7 : 9 : 12. Then the total humber of students in the three classes

before the increase is: /I H&naii & faenfiai #lv@n 4 : 6 : 9 & agura & 31 3fe vd® wam A 12 faemeif
ToT e TR @Y SUTd Sqa®HR 7 : 9 : 12 T SIRAT, @ deM | gd i1 wamei & faenfial &Y ga e @ iz

1.114
2.95
3.100

4.76

Correct Answer :-

25) If 4 workers can make 42 toys in 6 days, how many toys can 12 workers make in 3 days?/

gfe 4 9w 6 T ¥ 42 fadH TR FR FFd §, @t 12 9fie 3 7 3 fram faA daR s a@a §2
1.63

2.252

3.28

4.7

Correct Answer :-

26) In a zoo, there are rabbits and pigeons. If the heads are counted, there are 200 and if legs
are counted, there are 580. How many pigeons are there?/ fadt fafgarer & wm=r ok g 3| afe
Faa R B A= $ oe ot T=am 200 8 W afe @ A $ S o) G@n 580 8| FgaR) B eI 9ai |

1. 105



2.110
3.115

4,120

Correct Answer :-

- 110

27) CANCELLED

What is the sex-ratio of Madhya Pradesh as per the Census 2011? / SI-{UHT1 2011 a?&ﬂw?mﬂ
TSR &7 fofT-3rgurd | 82

1. 940
2.936
3.933

4. 943

Correct Answer :-

*« 943

28) An ideal storage capacity of a Read Only DVD./ $8 30cil SIS Y amexf RSt &var . Bl
1. All of the above /mmﬁ

2.8.5GB

3.9.4 GB

4.4.7 GB

Correct Answer :-
« All of the above / IWRiad T+

29) From the given alternatives select the word which cannot be formed using the letter of the

given word./ﬁvwﬁwﬁﬁﬁwwmmﬁﬁlﬁﬁquﬂfﬁmmﬂmqﬁmmml
MILLSTONE

1. LEMON

2. SOME

3. MIST

4. MILLION

Correct Answer :-

e« MILLION

30) Which of the following is software:/ A & @ 19 91 "iweaaR %:
1. Modem/liﬁ@'ﬁr

2. Firewall/lTIRaTd

3. Routers/RI3R



4. Gateway/ﬁ?a

Correct Answer :-

« Firewall/BTORAre

31) DIRECTIONS: In the question given below, there are few statements followed by few conclusions. You
have to take the given statements to be true even if they seem to be at variance from commonly known facts.
Read the conclusions and then decide which of the given conclusions logically follows from the given
statements./ 31 R 33 7T vy &, $© FY7 o 0P A $o Frepd faw 7w B 1 syt Ry T wy= @ W@ AT
g, Ha &1 3 gd3a g | i ydia 811 sl & ufeu ok fp au Fife i @19-a1 fasey 2w e sy= &1 adhima
FY Y FHVT T 2

Statements:/ ®Y-:

Some classrooms are zoos./ WE&I‘I‘GW?I
No zoo is a lab. / ﬁmmﬂﬁﬁl

All libraries are labs./ 9 [&Tad TaRRIAT € |
Conclusions:/ e

I. No classroom is lab./ Hﬁiﬁ?ﬂmqﬁ%l

II. No library is zoo./ @13 Qra@Tay Rfsarar T8 81
II1. Some libraries are classrooms./ WW$&H&?I
1. Only II follows/ %ad I 3IERUI HRd &

2. Only II and III follows/ %ad IT 3R 111 IR0 B §
3. All follows/ Tt SIERUI $Hvd §

4. Either I or II follows/ AT @l T AT 1T 3TIR0T I3 §

Correct Answer :-
« Only II follows/ % IT S{IERV HRd §

32) Which type of ROM can be erased by an electrical signal? / ﬁ'g’,‘le Rruar 9 5w yor &1 79 firerar s g

&

1. EPROM/ 3T} 31

2. EEPROM/ 3 3 UI IW
3. mask ROM/ AR IH
4. ROM/ |

Correct Answer :-

« EEPROM/ 3 3 U1 IH

33) CUI stands for:/CUI T Y &:

1. Character User Interface/ ®Raex JoR $ethd

2. Control User Interface / cld goR $cXbhY
3. Command User Interaction/ WWWF{
4. Command User Interface / $HUS JoR $e%GH



Correct Answer :-

« Character User Interface/ 3dc? goR $chy

34) The cell reference for a range of cells from B2 to K12 is:/B2 T K12 9P I DI m%ﬁqﬁammﬁ_%l
1. =B2,K12

2. =B2:K12

3. =B2-K12

4, =B2<>K12

Correct Answer :-

« =B2:K12

35) What happens when a user executes the below run command "winword /w "?/ SIq IYANTEHAr A S

"winword/w" &1 sHfad hIdl % ik ehT %?

1. Starts Word and prevents add-ins and global templates / T8 @ 3RH T § 3R TS-39 3R df¥y Tmdey
W I FRaT g

2. Starts Word in Safe Mode/ 9t TS & 98 & A1 Rl &

3. Starts a new instance of Word and then invokes NetMeeting / a8 o1 Tdb 0T E¥7d URH Hdl & 3R R
T 3MEH BT §

4. Starts a new instance of word with a blank document / TTcl! GITAW & 1Y eq BT Tdh AT EFTd 3RFH g1 STl

Correct Answer :-

« Starts a new instance of word with a blank document /WW%W&WWWW%W@W

36) ‘g WA TSI 3R T PT TH AR FR’—aATH © :
1. THAAD

2. Ghadrad

3. ARIAd P

4.@%3%

Correct Answer :-

37) B JTYP W WAAR & &7 &I — T | i 7
2. I Gadt

3. JaTH Taeht

4. fopam Taeft



Correct Answer :-

. I3 gadi

38) P’ Ul BT SHRVI A 8 :
1. g

2. 3y

3.dlqg

4.3

Correct Answer :-

Correct Answer :-

. gdf fgdl & sfafa

41) TG & Y S & T¥'— YT HT AR T
1. AR Y-AdTq

2WI:T%H:@T

3. YA 37T

4. 31Y1 fobg ¥=1a=

Correct Answer :-



43) “HIfAT e ISTERV T :
1. T T Bl

2. U YIY hl

3. SAdIdIdd YUY D]

4. 1JUIdT b YdY Dl

Correct Answer :-

« YA D YUY Dbl

44) ey &l Tifdc & f5y wrads 4 Hefia g :
1.@13[93[%

2.“@@'@

3. BATATGRR BT

4. ITRINYADH DT

Correct Answer :-

. [dHE 1

a5) fFrgfafa A g area 8

1. HRA & 3! HINTE et STt § 1
2. P! TR ST g |

3. 98 91 TR T U @ T 8|
4. T81 14 forat |

Correct Answer :-

. JgI Ad forar|



a6) fmifea A s A 7 :
1. Jad gt

Correct Answer :-

. Jad g4t

47) formifera A fadxft v B
1. Jod gt

ALK

3. 3IRd

4. PHIT

Correct Answer :-

. Iad g4t

48) forgifera o Al W50 3
1. YRIOT-4Roft

2. 3 it

3. 3fotfer-SieTedt

4. 3{qf-3{al

Correct Answer :-

. 3ad g4t

29) forgifera ® favmy g 6T R
1. STIRIATEI S f%l_a’

;s IINEIRED ﬁl—@’

3. PIFS g

4. 89UT g

Correct Answer :-

. IWIfaEy® g



50) DT WMeg “Bife’ BT AT 51 B :
1. 49 B i

2. W

3. \}n-szﬂah

4, GTT

Correct Answer :-

51) In an MS Office document, the short cut to move to the end of the document/last page of

gocument is:/ THTH 3Hhd & TP SiAgHe H, Siagie/Siagic & 3ifad Y§ & 3id IR |1+ &1 °Rd U

1. CTRL + END
2. CTRL + Home
3. CTRL + SHIFT + END

4. END

Correct Answer :-

« CTRL + END

52) IUPAC name of (CoHs), CHCH,OH is:/ (CoHs), CHCH,OH &TIUPAC A §:
1.2 - ethyl butane - 1 - ol /2 - YA G- 1 3Td

2.2 - ethyl pentane - 1 - 0l/2 - YA U= - 1 3Hfd

3.2 - methyl pentane - 1 - ol/2 - Y oeq - 1 3ffd

4.3 - ethyl butane - 1 - ol/3 - YA A - 1 A

Correct Answer :-

o« 2 —ethyl butane -1 -0l /2 - EHTCIFTBE‘@T-T— 1 37d

53) The difference between compound and simple interest on a certain sum for 2 years at 4%
per annum is Rs.56. Find the sum. /& AR IR Tshafs a7 TUT ATUROT ST BT 3R 2 I H 4%
Afaay #1 g A ¥.56 2| GAYH F1d B |

1. Rs./3=. 35000
2. Rs./3¥. 14000
3. Rs./¥. 18000

4. Rs./¥. 28000

Correct Answer :-

« Rs./3. 35000

54) Among O, C, F, cl, Br, the correct order of increasing atomic radii is:/ O, C, F, cl, Br,ﬁﬁﬁ%ﬁ

PH A 3991 WA e &1 9E HH g1



1.F, C, O, cl, Br
2.F cl,Br, O, C
3.C,0O, Fcl, Br
4.F, O, C, cl, Br
Correct Answer :-
« FO,C,d,Br

55) Even in absolutely clear water, a diver cannot see very clearlylﬁmﬁwuﬁfﬁ ft MaraR

% 8] ¢@ T

1. Because the focal length of the eye lens in water gets changed and the image is no longer focused

sharply on the retina/ T 3(1E & BB g3 U & da o1l § SR 1 R Ul 9gd 3R ae 76l s
2. Because ray of light passing through the water makes it turbid/aaif% YT &1 fHur gt & tfehd &R it §
3. Because rays of light get diffused/mwﬁwaﬂﬁ?ﬁ%

4. Because velocity of light is reduced in water/a0ife Tt & YT &1 AT HH B STl &

Correct Answer :-

« Because the focal length of the eye lens in water gets changed and the image is no longer focused

sharply on the retina/ Fifd 3G ! BT g3 T & Fad ST § 3R e R vfafard §gd X d% 81 =T

56) The Tansen Samaroh 2017 of Madhya Pradesh was held in the month of - / AT GRS
2017 HA U & e o maifora farar mam am)

1. December / feowR
2. November / "d&R

3. September / Ridw@R
4, October / 3fdgaR

Correct Answer :-

« December / feG=R

57) In the given sentence there might be an error. Find out which part of the sentence has an
error: If there is no error, mark your answer as (d) i.e. ‘No error’.

When you run, (a)/ each foot leaves the ground (b)/ before the other comes down. (c)/ No
Error (d)

1. (b)
2.(d)
3. (a)
4. (c)

Correct Answer :-

58) In the given sentence there might be an error. Find out which part of the sentence has an
error: If there is no error, mark your answer as (d) i.e. ‘No error’.



A Vedas are (a)/ the sacred scriptures (b)/ of Hinduism. (c)/ No Error (d)
1. (b)
2. (d)
3.(a)
4. (c)

Correct Answer :-

59) The Devi Ahilya Bai Award in Madhya Pradesh is given to female artists for excellence in

./ 9 H ¢t sfgedn 918 RIPR Afee FareR] B % Ipydl & e femrwman & -
1. Film direction, acting, scripting / foeed fe=m, sift g, gemur
2. Sports / wd
3. Social work / JTHIR® BT
4. Tribal, folk and traditional arts / 3fearft, T 3R TRURS Ha

Correct Answer :-

. Tribal, folk and traditional arts / 3, e 3R URUNS Ha
60) In a food chain, there is:/@Tg y@aT H,

1. Zig-zag flow of energy/3sil 1 §gTa foRT - ST BT §

2. Unidirectional flow of energy/3ull &1 9g1d T fxft glar g

3. Bidirectional flow of energy /Wﬁﬁw?ﬁﬁi’ﬂ&ﬁﬁ@m%

4. Multidirectional flow of energy/3ull &1 §81d SgfeRid gdl g
Correct Answer :-

« Unidirectional flow of energy/31l &I 981d U& faef gfar g

61) If day before yesterday was Friday, what will be the third day after the day after
tomorrow?/ df¢ did §U Hd & Ugd arer f YhaR T, df 34 a1 WAl & 916 | R fa= wam ghme

1. Sunday/ I[daR

2. Thursday/ T®dR
3. Saturday/X® AR

4. Friday/ gshdR

Correct Answer :-

« Friday/ [hdR

62) The multicellular organism that reproduces by budding is:/agaﬁﬁmvﬁawh%a%wm
WoIf~d gia 8-

1. Agaricus/HRI>H
2. Hydra/é’lET



3. Rhizopus/IZSog
4. Yeast/die

Correct Answer :-

« Hydra/gIg1

63) The ring system of wiring is better than the tree system because:/dRI ! {371 yurrelt, Us womett
Y PR B, AP

1. It can work even at low voltage supply/Jg &H dlees TR Ht HTH &R Tabvalt §
2. All appliances can be joined in series/dR ITHT Mﬁ@%\‘rﬂﬂﬁ%

3. Less power is consumed in the ring system /R 9ol § &1 SHolf T 8
4. It is less expensive /?Ts’ﬂﬁ%

Correct Answer :-

o It is less expensive /’Cl's’ﬂ"r?ﬁ%

64) Which of the following tourist places is/are there in Mandu of Madhya Pradesh? / Heg yewn

¥ g # Frafifad wWea va s are?

1. Nilkanth Shrine / @& o HfdR

2. None of these / 370 I &8 g1

3. Ashrafi Mahal / 3IRBT HEA

4. Both Ashrafi Mahal and Nilkanth Shrine / Gl 3fRW! H8d 3R Hidds HidX

Correct Answer :-

« Both Ashrafi Mahal and Nilkanth Shrine / G 3/RRW! Agd 3R Hado AR

65) Which of the following is a primary fuel? /fA=fafad # @ $i9 31 wufie $u= 81
1. Wood /ﬂﬁf

2. Kerosene / RG]

3. Diesel/SISd

4, Petrol/a'cflﬁ

Correct Answer :-

« Wood /d&a!

66) Which of the following administrative divisions of Madhya Pradesh has 3 districts? / AY0

weR & fraferfea # A fra v fum d 3 R 82
1. Bhopal / HIUTd

2. Ujjain / I

3. Chambal / Id

4. Shahdol / TgS@

Correct Answer :-



e Chambal / 9Hd

67) Which of the following addresses doesn’t change everyday?/ ﬁ?ﬁl‘@ﬁﬁﬁﬁqﬁ@ﬂﬂﬁﬁ?
eI 9qerd 82

1. IP address / Gﬂ'ﬁ“d’ﬂ?@ﬂ

2. Statics IP address/@rm m‘tﬂ@q

3. URL / g3IRTA

4. Dynamic IP address / SIOHIH® MYl Te9

Correct Answer :-

. Statics IP address/ Rfd® Ul T3H

68) Which of the following is never a part of an e-mail address?/ ﬁ'ﬂﬁf@ﬁﬁﬁﬁﬂwiﬁﬁﬁm

T332 1K
1..
2. Space

3.@

4.

Correct Answer :-

69) Which of the following is NOT a part of MS Office package?/ fRaferfad # @ @19 91 vquy siifey
Yo o1 fewa gt 32

1. MS Outlook/ THUY AHT3CIh
2. One Note /GT-F?I'C'

3. MS Access / THTH TR

4. MS Paint / THTH U

Correct Answer :-
« MS Paint / THUY Ue
70) Which of the following statement is true? /371 § &9 AT HYT A &1

1. The total mass of the substance remains same in chemical change/IT A& URTd & dd &1 Hd SHHH
Az

2. All of these /3URTad Gt
3. Physical change is temporary and reversible /Hifde TRad= rmf iR Td &
4. Chemical change is permanent and irreversible /A ® URad IRl 3R srEd &

Correct Answer :-

« All of these /SWRIad gt



71) Which of the following is not a 16 bit microprocessor?/ fRafifad & ¥ #14 16 fde H1 AEHNIR
T 37

1. 80386SX
2.7280

3. 8086

4. 80286

Correct Answer :-

. 280

72) Which of these words can be used as both verb and noun?
1. Apprehend

2. Arouse

3. Arrest

4. Anticipate

Correct Answer :-

» Arrest

73) The Congress MLA Ram Singh Yadav had passed away recently. He was also known as

./ &9 81 § i faumas I Rig arga w1y gt man ot a8 F 99 9 ot & i 3
1. Bhaiyaji / it
2. Dadaji / GTaTSH
3. Tiger of MP / THUI & ¥R
4. White Tiger / 9the 2R

Correct Answer :-

. Dadaji / aIareit

74) When metal z is added to dilute HCI solution, there is no evolution of gas. Metal is:/Sd YTq z

Y aq HCI 37 & STelT oITe 8, a9 $Y$ A T8 Frpereit | a8 g 2-
1.Zn
2. Ag
3.K

4. Na

Correct Answer :-

75) A segment of DNA providing information for a protein is called?/U® &I T4 U &1 s ©l f& Wi
& IR § gfRd s -

1. Trait /fa=war



2. Chromosomes/lIUﬂiﬁ
3. Nucleus/ Y&
4. Gene/SiI

Correct Answer :-

. Gene/GﬁT\‘:[

76) In which year was the Bharat Bhavan inaugurated at Bhopal? / mﬁmmmw
e ad & gam ur?

1. 1981
2.1983
3.1984
4. 1982

Correct Answer :-
« 1982

77) In which year was the state of Madhya Pradesh divided to form the state of Chhattisgarh?
/ SRS ¥4 S99 & e weg wew fe adf # fyavnfora foar man ur?

1. 2002
2.1999
3.2000
4. 2001

Correct Answer :-
« 2000

78) In which year was Bhimbetka of Madhya Pradesh discovered? / AU & WiHdesr frg af A
FIST 7T UT?

1. 1955
2.1957
3.1954

4. 1956

Correct Answer :-

« 1957

79) Translocation of solutes primarily takes place through/ﬂﬁ@ﬂﬂﬁfiﬁmﬁi@&lﬂﬂmw
ERIGAT 81

1. Xylem /SIITH
2. Phloem /Wﬁtl'q
3. Cortex/?ﬁETﬂ



4. Pith/fay

Correct Answer :-

¢ Phloem /tﬁﬁtlﬂ

80) A/ An is a personal journal posted on the web for public access./ gravie ARRH &
et 39 WURe &) 7€ grde ufe g1

1.IM / 3ETH

2. Web log /99 @
3. SMS / TquHIY
4. email/ 39@

Correct Answer :-

« Web log / 3§ @M

81) is the arrangement of the various elements (links, nodes, etc.) of a computer

network./ &R Acad & faftm a@l Rigw, ey, onfe) & sraw 31
1. Hub /&9

2. Protocol / WicidbTd

3. Network of networks / Hcae! &I "cad

4. Topology / eUrarsit

Correct Answer :-

« Topology / Tararsi

82) A sentence with an underlined idiomatic expression is given. What is the meaning of the
idiomatic expression ‘a tough row to hoe’ in the sentence given below?

Teachers have a tough row to hoe in today's schools.

1. a lot of opportunities

2. None of the above

3. an attractive salary

4. a difficult situation to deal with
Correct Answer :-

« a difficult situation to deal with

83) Coloured band of light obtained by dispersion of white light is called: /9% YT & fau=ur
() | ured i §s B PeTwaT 8:

1. Image/ﬂ'ﬁlﬁﬁ

2. Mirage/fBRTs!

3. Spectrum/@ﬂﬁﬂ
4. Shadow/UR®TS



Correct Answer :-

. Spectrum/@ﬂ@ﬂ

84) Name of the organism which lacks nervous system /3% Siid &1 71H Sa$¢ forgs Uiy dfer a1
Tl gl
1. Plant /9&

2. Hydra/g1gl

3. Human being/dMHd
4. Grasshopper/ﬁgl

Correct Answer :-

« Plant /3&

85) Out of the given options, choose the most appropriate one to fill in the blank.
must not boast of Owh success.

1. One, her

2. One, our

3.0ne, one's

4. One, their

Correct Answer :-

« One, one's

86) Krishnarao Shankar Pandit was a famous from Madhya Pradesh. / $URIG YR

UfSa 7er uew 9 Ui of
1. Journalist / UAHR

2. Author / I&®

3. Singer / ®

4. None of these / Eﬁ@[ﬁg:ﬁﬁ

Correct Answer :-

o Singer / A%

87) Washing soda has the formula/ﬁT&hT?ﬁ@TWW%:
1. NayCO3. 7H,0

2. Na,CO5

3. Na,C03.10H50

4. Na,CO3. H,0

Correct Answer :-

. N32CO3. 10H20



88) Who out of the following was one of the Begums who had ruled over Bhopal? / Fafafaad
A DI A T A HiuTd R A fosar 12

1. Fatema Zoya Begum / BT ST T H
2. Razia Sultana / Io/T gearT

3. Sikander Begum / Ridrer a7

4. None of these / S79 4 ®Is gl

Correct Answer :-

. Sikander Begum / &z &7

89) A Sentence is given with blanks to be filled in with appropriate words. Four alternatives
are suggested. Choose the correct alternative out of the four.

The of the factory brought to the town
1. announce, misery

2. arrive, problem

3. closure, poverty

4. open, unemployment

Correct Answer :-

« closure, poverty

90) Who has been elected as the Governor of the Madhya Pradesh state? / A% WS AT &
YT & &Y | S g7 T 82

1. Anandiben Patel / 3fHf¢ad acd

2. Tathagata Bhattacharya / HWHE‘RIT&C
3. None of these / 30 Y ®I5 Aol

4. Om Prakash Kohli / ahnwmﬁg?ﬁ

Correct Answer :-

. Anandiben Patel / 3Hfead ued

91) Who has been appointed as the Lokayukta of Madhya Pradesh recently? / U USRI &
APRIa & U H gTa 8t ¥ f5a g fear man @2

1. P. P. Naolekar / @1, . A13ficiahR
2.S. S. Chauhan / T9. T9. 9igH
3.N. K. Gupta / T. &. Tl

4.]. P. Sharma /@T.Tﬁ.mﬂf
Correct Answer :-

« N. K. Gupta / TH. &. el



92) If the under given alphabets are arranged in proper sequence we get the name of a well-
recognized as per the Standard English vocabulary.

[R,C,U,O, A IEF L W,L]
1. Country

2. State

3. Planet

4. \Vegetable

Correct Answer :-

« Vegetable

93) is a network covering a building, a plant, a campus or near-by buildings./

T SURE, GU, IRER T1 Fidead SHRG! $) [T $3 aTel U Jead 2
1. MAN
2. LAN
3. TAN

4. WAN

Correct Answer :-

« LAN

94) In question given below, a part of the sentence is bold and underlined. Below are given
alternatives to the bold part which may improve the sentence. Choose the correct alternative.
In case no improvement is needed, mark option ‘D’ as the answer.

The rivers of America are largest than that of Europe.

1. are large than that of
2. are larger than those of
3. are larger than that off

4. No improvement

Correct Answer :-
« are larger than those of

95) In question given below, a part of the sentence is bold and underlined. Below are given
alternatives to the bold part which may improve the sentence. Choose the correct alternative.
In case no improvement is needed, mark option ‘D’ as the answer.

Either Sita or Amina forget to take her parasol.

1. No improvement
2. or Amina forgot to take
3. nor Amina forget taking

4. nor Amina forgot to take

Correct Answer :-

« or Amina forgot to take



96) Where is the Tulsi Shodh Sansthan located in Madhya Pradesh? / W0 WX H @™t Wil G4
Fgi A 32

1. Chitrakoot / f&=ge
2. Bhopal / Hiu@

3. Ujjain / S

4. Gwalior / TaIfeRR

Correct Answer :-

« Chitrakoot / fTA%e

97) In January 2018, what cess has been imposed by the Madhya Pradesh Government on
petrol and diesel to fund road infrastructure? / W<l 2018 H, AT WX WRPR 1 ASP WA & fIg
eid 3R SITd IR T IUS AT 82

1.Rs.2/%.2
2.Rs.1.50 / %.1.50
3. 50 paise / 50 T¥

4. Rs.1/%.1

Correct Answer :-
« 50 paise / 50 U9

98) DIRECTIONS: In the following question, there are six parts marked S1, S6, P, Q, R and S.
The position of S1 and S6 are fixed. Some parts of the sentence have been jumbled up.
Rearrange these parts and choose the proper sequence from the given options.

S1. There was once a fox, which was very friendly with a stork.

P. The stork decided to return the kindness and invited the fox over for dinner and served
soup in a long-necked, narrow-mouthed jar.

Q. So he set the table with a shallow dish, with little soup in it.

R. The fox had a good meal, while the stork had a tough time drinking the soup with its long
beak.

S. It invited the stork to dinner one day and decided to play a prank.
S6. This time the stork ate well, and the fox starved.

1. QRPS

2. PSRQ

3. SQRP

4. RPSQ

Correct Answer :-

99) DIRECTIONS: Find the related group of letters from the given alternatives./ fAadr: fegww
fawenl # 3 Hafla iR &1 TYg J1d B



ACFJ : VTRP :: EGIN : ?
1. ZXVT
2. VXZB
3. PRTV

4. ZXRT

Correct Answer :-

o ZXVT

100) A piece of resistance wire has resistance of 16Q. Its diameter is doubled. Now its

resistance will be/T® UfeRIY® dR FTUfARIY 16Q § | IHBT AT fS AT B faar 9 af 37T wfariy ghm -
1.8Q
2.2Q
3.1Q

4.4 Q

Correct Answer :-

e 4Q

Topic:- PCM

1) For the steady current, the value of divj is: /T 4RT & oY div jaa'r | 8NI-
1.0
2.2
3.1

4, 0

Correct Answer :-

2) For electromagnetic wave refraction, Brewster’s law is given by (assume np > m )ﬁﬂaﬂiﬁﬁq T P TP %ﬁ,
X 31 P Rar s aear 81 (afg "2 7 ™y

@, = sin™? (E)

1. !
n

@, = sin™? —1)
2. 1
n,

@, = tan™? (—‘)
3. !
N

@, = cos™t (—‘)
4, !



3) Which statistics will apply to deuterons and & particles./SggiF 3R % S R $I W HifSPHT ST gt 2-
1. None of these /378 ¥ &g ol

2. M-B (Maxwell- BoItzman)/ﬁa?Haﬂ—@?c’GIﬁ:f

3. F-D (Fermi - Dirac)/®Hf -feve

4. B-E (Bose - Einstein)/ §19 3M3&H

Correct Answer :-

« B-E (Bose - Einstein)/ a1 3M2&H

CHO

(1) Conc. NaOH N Conc. H S0, Product is/ S % |
(2)H* A

ke

=
O
i:;‘\ e
@)

NO,

O.N

&

NO,

CH,OH

ON COOH

©

NO,

O.N

":Zio“

NO

COCH

O.N CH,OH

©r

4. NO,

Correct Answer :-

Q
ON

NO,

5) Jis2 ==



4. None of these/éﬂﬁ@fﬁ'ﬁ‘:@'

Correct Answer :-

lr2
I(—)sinx
\ X
6) oD o0
L ou, Lou

n
Series1 =1  of positive terms is convergent by root test if: &Gl TR & gRT TS Ui BT Aot n=1 AR
g afe:
Lim
1. n— co

()Y =1

Lim

o n—co (un}lm <1

e
3.

4. None of these/éﬂﬁ@(ﬁ'&fﬁ

Correct Answer :-

Lim
n—co

(un}ia’n =1

-

7) The correct relationships between P and E is (where P polarization vector and E_ Electric field./ P 3R E F g wal
Hdy g (787 — ydaaRw iR E =Rggadad)

1.P

-

€0 KE

Correct Answer :-

. P= xeoE
8) 1000 1 000
01 00 01 00
The rank of the matrix .0 0 0 0 is:/ 3fTogg 0 0 0 Oeenfag:
1.0

2.2



3.1

4.4

Correct Answer :-

T -1
9 The wavelength of a wave with propagation constant (017 + jo2m)m is:/ Tt o371 @1 afea Faaie
- -1
(01m+ Jo2m)#Hr -

2 a
2

—— ™ ,;_
+ 005 +/0.05
1. /

2.10 m/10 HieR
3.20 m/20 Hie?
4.30 m/30 HicR

Correct Answer :-

« 10 m/101=1€€
10 Tox< T i Taox< T
) The value of A for W = A cos2 * for 2 Zis:/ W = A cos2* o * 1AM 2 2 ¥ fT A &1 9H 8-

M5
|_

LA

Correct Answer :-

—_—

l'g

,\JBTI

11) 1fu = y3 - 3x2 y, then harmonic conjugate of u is:/afdu = y3 - 3x2 Yy, dd u wsﬁfﬁmwtﬁ
f

1. None of these/378 q ®13 g

2. —3xy2 + x3

3. -3xy2 -x3

3

4. xy2 + x

Correct Answer :-



12) Which one of the following decay is permissible?/ﬁﬂﬁﬁﬁ?w&mﬁw %—
1 pont -+ v

— + v
> P n+ T+ ¥

— +
3 0 P+ B "+ v

A moP+HB T

Correct Answer :-

L n P+ B+

13) CANCELLED

Work done when a force F=(®+29+39) N acting on a particle takes it from the point A=E+y+3) m to the
point 2 = G+ F+28) i et wan’ = O+ 20 +3) g g safig — Ot V) s dfig
7 =2+ 3+ 22) iy o v o € o et e e e @

1. Zero /R
2.-3]
3.2]
4.-1]

Correct Answer :-

14) CANCELLED

For a radio wave, the ionized medium behave as a/i‘%ﬁﬂtﬁ%ﬁﬁ, mmmwm%
-

1. Denser medium/¥9- HIIH $i TE

2. Rarer medium/faRel A1 &1 TRE

3. Dielectric medium/Wﬁ@EﬂﬂTWﬁﬂT
4, Vacuum/ﬁﬂf’c[ﬁm

Correct Answer :-

e Rarer medium/ﬁ?ﬁ mmafﬁars'

15) CANCELLED

A charged particle is released to uniform magnetic field it's path will be-/@%ﬁﬁlﬁﬂﬂﬁw
THIA GaB1a & W BIST 1T § A SUBT Il -

1. Elliptical/URdddTPR

2. Circular/daig
3. Zig—Zag/éST-ﬁET
4. Linear/i'@?-'l

Correct Answer :-



« Linea r/%@q

16) div(r) =

.7

4.7

Correct Answer :-

1. 2 Sin at
1
2. 2 Sinh at

3. Sin at

4. Sinh at

Correct Answer :-

18) w/2
_|" sin®™ 18 cost 10 dE =

0
|tm) [

L 2 |(m—n]

[Gm) [(n)
5. 2|(m +n)

|Gm) [(n)

3, [tm=m)

|tm) |()
4 [(m+7)

Correct Answer :-

|Gm) |(n)
. 2|(m+m)



/2
_J" sin
0

*ycosiyxdx =

20) (1+ A)(1- V)=
1.A
2.0
3.E

4.1

Correct Answer :-

21) 1
[ %2 Py (dx =
-1

| =

L b

22) The relationship between the phase velocity Vp and group velocity V,, in a non-dispersing medium is:/q® R o

HIH H YTaRAT T Vp 3R g A7 v, & g sy g

1 V2=

o« |'::‘:

0 |



Correct Answer :-

23) The unit of magnetic flux is:/ﬁﬁﬂ"ﬂ'ﬂ TTRT BT HIADP %—
1. Weber/a'@R

2. Debye/%_q”l'&F

3. Henry/%ﬁ

4. Rutherford/3eXwI8

Correct Answer :-

. Weber/a'sR

24) Two beam of proton moving parallel and in the same direction will-/'?ﬁg'\ll:[ P gl forul gu fozm & Udh W &
AR IAGI 8 d -

1. Exert no force/®Is §d gl G

2. Deflected perpendicular to the plane of the beam/WHﬁW%ﬁW@ﬁﬁﬁ%
3. Attract each other/Ud GaR &1 SHIHNDG HN

4. Repel each other/Td AR &1 UfAdmod B

Correct Answer :-

« Repel each other/Td& AR & WA od B

25) 1
If in a binomial distribution n = 48, p = 4 then standard deviation is:/afd T® fgugdead n =

? 99 U fa=e gm:

NS

48, p =
1.3

2.2

3.6

4.4
Correct Answer :-
3

26) Partial hydrolysis of garmicidin S gave the following dipeptides:/TA®iE s & 3fiflkre
SraeeeH | Fafafed sgierss fawd 8

(Leu-Phe) (Phe-Pro) (Phe-Pro-Val) (Val-orn-Leu) (Orn-Leu) (Val-orn) (Pro-val -orn)
The structure of S is/’S’ & G &

1. [-Orn-leu-phe-val-pro-],

2. [-Val-orn-pro-leu-phe-],

3. [-Pro-val-orn-leu-phe-],



4. [-Phe-pro-val-leu-orn-],

Correct Answer :-
» [-Pro-val-orn-leu-phe-],

27) The hybridisation of [Co Fg]3~ and [Co (C504)313 are:/ [Co Fg]3~ @UT [Co (C504)313~ &
TPV §

1. dzsp3 and sp3d2 respectively/ hHR: dzsp3 ayr sp3d2

2. sp3d2 and dzsp3 respectively/ hHR: sp3d2 ayr dzsp3

3. Both sp3d? / &l sp3d?

4. Both d?sp3/ &l d2sp3

Correct Answer :-

« sp3d? and d?sp3 respectively/ HT: sp3d? dYT d?sp3

28) IUPAC name of compound is:/ WP BT IUPAC T BT 2
HCEC—(T‘,H—CH = CH,
CH = CH,
1. 4-Propyny|pentadiene/4-mﬂ's’ﬁ?l PESIEER]
2. 3-Ethynylpenta-1, 4-diene/3-TUZH@U=I-1, 481334
3. 3-Etheny|pent-4-en-1-yne/3-1;fftlﬁﬁ'ar_c'-4-§:[-1-3{137-[
4. 3-Etheny|pent—1en—4-yne/3—@ﬁ€fﬁr‘c‘—1—§v‘-{—4-3ﬂ§q

Correct Answer :-

« 3-Ethynylpenta-1, 4-diene/3-TUTEATU=I-1, 4-ST354
29) Cosec ix =

1. -i cosec hx

2. Cosec hx

3.1 sec hx

4. Sec hx

Correct Answer :-

« -i cosec hx

30) Which phenomenon causes the polarization of light/U&T= & Y&l & ford Hi4 W gear ReR
Bl

1. Diffraction/faad=
2. Double reflection/ggRT TRIa
3. Double refraction/m&mﬁ?
4. Reflection/Wﬂ?ﬁ



Correct Answer :-

. Double refraction/aIgxT 3agdd

31) Write correct basic strength order of following compounds: /23 T Gifie 1 98} &g g &1

HH garsy |

NH, NH, NH,
Z CH,
)
N
CH,

1.2<3<4<1
2.3<2<1<4
3.4<2<3<1
4.1<2<3<4
Correct Answer :-
e 4<2<3<1

32) A system absorb 600J of heat and work equivalent to 300] on its surroundings. The change

in internal energy is./ T 600 S[& T @RNAT HAT & TUT TP URA W R 300 A & RIS AT 8
TR Sl # yRadq g1

1.400]
2. 600 ]
3.500]
4.300]
Correct Answer :-
« 300)]

33) The unit of moment of inertia is:/ﬁ?pﬁéanfWW%-
1. kg / cm? / T a2

2.1 x m/5d -fieR

3. kg x sec? / fixddbg?

4. kg x mZ / fearx 2

Correct Answer :-

o kg x mz/ﬁﬂﬂxfﬁz

34) The probability of finding the particle in a volume dV can be written as:/31dd4 dV AP S
I 9 &1 Wi &) ferar o g g1

L P(n)av =¥ (50 av



2 P (r,t)dV = |¥ (r,t)|% dV
3 P(rt)dV =¥ (rt)|dV
4 P {r,t)dV = ¥ (rt)
Correct Answer :-

. P(r,0)dV = [¥ (r,t)|2 dV

35) The total number of edges in a complete group of n vertices is:/n Qﬂﬁﬂﬁ@@f&lﬁtﬁﬁ
YIS B Fa W= 8-

Tn
1.2

4.n%-1

Correct Answer :-

36) consider following reaction; Nitrite + Acetic acid + Thiourea — N, 1 + SCN™ + 2H,O.
Formation of the product in the above reaction can be identified by:/ ra sifufssar &1 sraete
PIIY; ATgeIge + THIfe® SR + TN IRAT — N, 1 + SCN™ + 2H,0 ST HfUHAT & §9 aTat Ie1G BT
teur fpad gRT far o Jwar @ 2

1. K»,Cr,05 / HCI, when green colour appear/ K5Cr;05 / HCI JId 81 T 307 Il §
2. KMnOy4 / HCI, when colourless solution is formed/ KMnOg4 / HCI Sd oy é | ﬁwm%
3. FeCls / dilute HCI, when blue colour appears/ FeCls / @ HCI 9I& =fdl &1 3@ gl §

4. FeCls / dilute HCI, when blood red colour appears/ FeCl; / 9 HCI Sid Y& ST Ald U1 307 gidT §

Correct Answer :-

« FeCls / dilute HCI, when blood red colour appears/ FeCl; / a9 HCI 51§ Iad SN Ald U1 37 il §

37) Consider following statements: /% ®Y $T @AIH BIfoIC:

I: CH3COOH (a weak acid) behaves as a strong acid in NH3./ NH3 | CH3COOH Wg‘éﬁ 3T Uh
TS 3 B A6 HIGR Bl g

II: HNO3 (strong acid) behaves as a base in HF (anhydrous)./ HF (ﬁlﬁ?ﬁ'&r) | HNO;3 (U9 3RIq)
TS &R P dYE UAGR HaT 8

III: H,SO, dissociates to a very small extent in glacial CH;COOH./ TaRd CH3;COOH & H,S0,
9gd 0 9 A faafora gar 31

Select correct alternate for these statements. /39 $Y1 & fore I faweq &1 997 FIvTE|
1.1, TII

2.1, 11



3.1, II, III

4. 11, III

Correct Answer :-
o I, II, III

38) The equation of continuity for the steady current is:/fRR 4RT gq fA¥azar &1 w0 8:

=+ 6;::
div]= ——
. iv] ot

39) The equation whose roots are three times the roots of x> + 2x2 - 4x + 1 = 0 is:/TJHHIT x3

+ 2x2 - 4x + 1 = 0 & Tal & & T Tl aren THiHwor 8:

0

1.x3 + 6x2 - 36x + 27
2x3+2x2+4x+1=0
3.x3-9x2 4+ 28x-27 =0
433 +6x2+12x+3=0
Correct Answer :-

e X3 +6x2-36x+27=0

40) What is the probability of throwing a sum 7 in a single throw of two die: /3 U &) TP IR
IBTAA W AT 7 A BT WIRSaT T 8:

=
o e

[« = | ka

4.

Correct Answer :-

1



dty . d2y .
. ) ) ) st y=sinx ——=ty=sinx
Particular Integral of the differential equation 4x is:/ 3AH A GHIHRT dx
oy waTea 8:
x
N 2 CO5X
x .
5 2 SINX
X
— — CO5X
3. 2
x -
4 2 Sinx

Correct Answer :-

42) The slag consists of molten impurities, generally, in the form of:/ Tfera ara;@u‘rgaa LIGEK)
g e sraw A gar @

1. Metal carbonate/ 4TJ HEMT
2. Metal nitrate/ ?ﬂﬂ:ﬂ@‘c’

3. Metal oxide / UIg Hmﬁg

4. Metal silicate/‘iﬂﬁﬁlﬁi%

Correct Answer :-

« Metal silicate/Tq Rifcide

43) The following molecules / species have been arranged in the order of their increasing bond

orders, Identify the correct order./ﬁ'{! GMW'@F{ Cakeord EIE?[ BY d-shH ¥ AMYR R IafRyd fHar mar
8, Ul P &I ygaIiAd |

(1) 0,

(II) 05"

(I11) 0,7

(Iv) o,*
LII<III<I<IV
2IV<III<II<I
I <II<IV<I
4 Il <II<I<IV
Correct Answer :-

e III<II<I< IV

44) Differential equation Mdx + Ndy = 0 is exact if:/ 3@®d GHIHI Mdx + Ndy = 0 Y@y §, Tfe:

8M+ BN_G
1, 9x ay



an N aM
5 dx  dy N

oM  aN
3. ady dx

8M 8N
4 Ox Oy

Correct Answer :-

oM aN
. By T oax

45) Two glass bulbs A (of 100 mL capacity), and B (of 150 mL capacity) containing same gas
are connected by a small tube of negligible volume. At particular temperature the pressure in
A was found to be 20 times more than that in bulb B. The stopcock is opened without changing
the temperature. The pressure in A will:/ Sl Bla & e (of 100 mL &-I'H?IT%) B (of 150 mL
&war) ¥ U 99 AW § 3R 3 TR0 SRaH &1 Sl AfeT gRI IS gu gl fhfi Affaau A sTge s B F @
¥ 20 THT UTW g 8 | 917 A H1g uRad= A f31 3raRiu® (stopcock) Y Wid 3a 81 A T 319 gHII-

1. Drop by 25%)/25% &4t
2. Drop by 75%/75% ®H!
3. Drop by 57%/57% &H!
4. Will remain same/‘v'l'ﬁl'FN%Tﬂ

Correct Answer :-

« Drop by 57%/57% &4t

46) The complementary function of the equation (D2 + 2DD’ + D'2) z = 24(y-x) is:/JHIH (D2
+ 2DD’ + D'2) z = 24(y-x) T RS Had &:

L PO+ + 20 (v +x)

5 ¢1y—x)+ xdy (v —x)

3 P G+ + dry—x)

4. None of these/STH Y P15 ol

Correct Answer :-
Lm0+ xd v —x)

47) Disjunctive normal form of function x. y is:/®dH x. y P1 fago-g U= 3 8:
1. x.y.Z'

2. None of these/%‘-lﬁ@fﬁg:@'

3. X.y.Z

4. X.y.Z + x.y.Z'

Correct Answer :-

e X.¥.Z + x.y.Z'



48) If AH is the change in enthalpy and AE the change in internal energy accompanying a

gaseous reaction-/ T Tig ififtrar & ford afe AH TR ufvad= auT AE 3m=iier Seit # uf¥ad g a9 -

1. AH < AE only if the number of moles of the products is greater than the number of the reactants/afq

IS & Hidll B! G-, DB RD! b Hicll Dl G-V 34fIPH & 99 AH < AE

2. AH < AE only if the number of moles of the products is less than the number of moles of the reactants/

Tfe IIe P Hidl B! TBAT, AMHBRDI P Hicdl B BN A HH S dd AH < AE
3. AH is always less than AE//AH, AE ﬂ%‘q’mﬁﬂ'ﬂ

4. AH is always greater than AE/AH, AE 9eg 31 grm

Correct Answer :-

o AH < AE only if the number of moles of the products is less than the number of moles of the reactants/

i IIe P Hidl 31 BT, AMBRBI P HAicdl P BN A HH 8 dd AH < AE

49) Two masses 2 kg and 4kg are tide with the ends of light inextensible string passing over a
frictionless pulley. If these masses are released, what will be the acceleration of the

masses. /2 f&U1 3T 4 fFu & 3 goau faredt Ramma e =it & A1 3k 99 gu @ ok e avur 3fga Rrt
WP §U 2, Ul SouwT=) &) gad B fouT SITa d) ST @ or T BT -

1.3.33 m/s2/3.33 Hi/Q2
2.0.33 m/s2/0.33 H/42
3.33.3 m/s%/33.3 T/A2
4. 333 m/s%/333 H/42

Correct Answer :-

. 3.33m/s2/3.33 Hi/32

50) Identify element of the group [I, *] where a*b = a+b+1 is:/I¥g [I, *] BT IIHSD 39Td T &
Safd a*b = a+b+1

1.0
2.-1
3.1
4. -2

Correct Answer :-

51) In atom bomb we use the process called:/UHTY] g0 & $Hi- Wt forar war &} i 2:
1. Ionization/GﬂﬁﬁrUT

2. Electrolysis / fagadia fages

3. Fission/ﬁq’ﬂ'ﬂ

4. Fussion/Ica+

Correct Answer :-

« Fission/fdgeq



52) The pressure of a gas filled in a closed container increase by 1% when temperature is
increased by 1°C. What will be the initial temperature of the gas./df¢ fFft & ¥t g A HT Q1@
1% §EHT STdT & d SYPT a7 1°¢ I¢ Sa1 §, @ 79 &1 yRfyS a9 ghm-

1. 1000 K

2. 10K

3.100 K

4. None of these /375 ¥ @15 ol

Correct Answer :-

« 100 K

53) In reversible process, the entropy of system is: /& Seravily wshy & e # Trdt:
1. Decreased/ ‘EIET-ﬁ%

2. Increased/ 9t §

3. Zero/@@?ﬁ%

4. Remain constant /RR & §

Correct Answer :-

. Remain constant /RR B §

54) The perimeter of the cardioid r = a (1-cos®) is:/ gAY r = a (1-cos0) 1 gt 8:
1. 2a

2.4a

3.16a

4. 8a

Correct Answer :-

55) In an equilibrium reaction for which AG° = 0, the value of equilibrium constant K =/ T&%

ar sififsrar 7, forad g AGe = 0 3, 9 fFais K =
1.0
2.2
3.10

4.1

Correct Answer :-

56) Which of the following is correct order for stability of carbocation: /PTEUYAT & W@ & e
fad A FTa Fu A



@ ® & @
, (CH3)3C > Ph-CHz > CHz=CH-CHz > CH3 -CHz2

& & = &
, CHz=CH-CH2 >Ph—CHz > (CH3)3C > CH3-CHz2

a8 = @ =}
, Ph-CHgz > CHz=CH-CH2 > (CH3)3C > CH3 -CHz2

=) ) & &
4 (CH3)3C > CHp =CH-CH2 > Ph-CHz > CH3 -CH2

Correct Answer :-

& = @ @
(CH3)3C > Ph—CHz > CHs=CH-CH2 > CH3 —CH2

57) Which of the following is correct in a Boolean Algebra:/geid S # fFAfaf@a A d s an
'\‘Iﬁ%:

L.(xy)=x".y'
2.(xy) =x+y
3.(x+y) =x"+y’
4. (x+y)' = x".y’
Correct Answer :-
« (x+y)' =x".y’

58) Which of the following gaseous atoms has highest value of ionisation enthalpy?/ frafafaa

T A 1A Ny =] #Y s AR &1 Siftreaw A 82
1. Si
2. Mg
3. Al

4.pP

Correct Answer :-

59) Which of the following acid remains unaffected on heating?/ﬁ?ﬁﬁmmﬂﬁaﬂﬁw ft
YT TEaT B

1. Maleic acid/Heis® 31

2. Succinic acid/ SfRA® 3
3. Fumaric acid /mﬁ‘wm
4. Malonic acid/ﬁ?ﬁﬁ@ 3

Correct Answer :-

« Fumaric acid / AR 31

60) Which of the following intervals is not bounded:/ffifad & ¥ ®19 |1 3RTd URaTE 781 8:



1.[a, b)
2. (a, b]
3.[a, b]
4. [-00, a)

Correct Answer :-

61) Electron-volt is the unit of:/sﬁﬂa‘ﬁaﬁm?-
1. Potential difference/ﬁ‘l-lamﬁ

2. Energy/3ell &l

3. Current /YRT T

4, Charge/\?rl'lﬁ"-‘ZTW

Correct Answer :-

« Energy/&vil &1

62) The radius of curvature for the curve p2 = ar is: /3% p2 = ar & ford apa1 =T 8:
2p?

33

2p
2. @

WD

AL

4.

Correct Answer :-

63) Nuclear force are-/T-ITf\‘l-IT:lﬁ'lTW%-

1. Electrostatic repulsive/a@?ﬂqw

2. Gravitational attractive/ﬂWtﬂH S{THHOT

3. Long range and strong attractive/ Ei'qﬁ%ﬂmaﬁ?majr&wcfm
4. Short range and strong attractive/31e! T Sﬁ?WGHEBEfUT

Correct Answer :-

« Short range and strong attractive/®Ict 4T 3R AN BT

64) A charge experiences a magnetic force in a magnetic field only when it is: /T® &Iﬁﬂiﬁ'ﬁ'ﬂ
&7 ¥ a1 96 3JHd T § $ad oid a8 gial 8-

1. Moving/TTfaRiTa



2. Stationary/f@R
3. Stationary or moving/f®R 3ryar Tia=id
4. Making moving an angle with the direction of magnetic field/ﬂaﬁﬂﬁﬁﬁmﬂﬁwmﬂﬁwé

Correct Answer :-

« Making moving an angle with the direction of magnetic fieId/ﬂaﬁﬁaﬁaﬁmﬂﬁWW@TﬁW%

65) Boron of highest purity (~99.9%) is obtained by:/ 3RGaH YT (~99.9%) ITd TR B U
frarsTaPare :

1. Reduction of BCl3 with H at 1270 K/1270 K TR BCl3 ®T H, & 91 U< gRI
2. Reduction of B,03 by Mg/ B,03 ®T Mg & §RT 3Uadd I
3. Thermal decomposition of boranes at 1173 K/1173 K TR =9 & dIUIT 3{gged & gRI

4. Electrolysis of fused tetrafluoroborates (KBF,) in molten KF/ TIfefd KF & ¥Iferd CoIriRIINGY (KBF,) &
égqa SUYC gRT
Correct Answer :-

« Reduction of BCl3 with H, at 1270 K/1270 K QR BCl3 @I H, & I U gRI

66) What will be the order of reaction and rate constant for a chemical change having log t5qo,
vs log concentration of (A) curves as:/ I9Tafe ufada A log tsgos, MR log Tl & HeT IT6 (A)
UTW a1 & o SfHfshar dife 3R sififssar o fraaie ghm:

log t g0 Go
log a

1.3, 1

2.1, 1

3.0, 172

4.2,2

67) At absolute zero, an intrinsic semiconductor/UHdTd U 3fidi¥® G-
1. Has large number of holes / 81d & TaT 3(fde gl &

2. Behave like an insulator/U® $aTd® ® dve HTER BT §

3. Behave like a metallic conductor/T% HTfd® ATAH B! AR TTGR BTl §

4. Has some holes and some electrons/ WW@TWWQ@?{%

Correct Answer :-

« Behave like an insulator/wmﬁmwm%



68) What can be the maximum percentage of available chlorine possible in a given bleaching

powder sample?/@&ﬂﬁmﬂwmﬁmmﬁaﬂmmmﬁm%?
1. 55.9%

2. 58%

3. 60%

4. 52.9%

Correct Answer :-

e 55.9%

69) Which will not show geometrical isomerism/ 9 & &9 sarf¥rdta gHagadr uelRfa 78 aym?
Cl

Cl

5. Cl

3. CICH = CHCI
4. Ph—N=N—Ph

Correct Answer :-

Cl

70) Monomer of celluose is/ YT FT THASD |
1. Fructose/ Thaer |

2. Glucose/ &N
3. Maltose/ ATeE N

4. Sucrose/ g

Correct Answer :-

« Glucose/ T®™

71) The electromagnetic waves are-/fdged ga@ig a¥il g4l 3-

1. Transverse/3IUxf
2. Longitudinal /Gﬂ%ﬁ

3. None of these/‘a’qﬁ@ﬁé:@'



4. Either longitudinal or transverse/a1dl G{Tﬁﬂfmx’:ﬂﬂw

Correct Answer :-

» Transverse/3IUx|

72) The electric field intensity on the surface of a charged conductor is:/éﬁﬂﬁwﬁmw

faged &= &t Ferar it -

1. Directed normally to the surface/ddg & d&dd gl &

2. Directed tangentially to the surface/Idg & W=isyT & fe=m & gidt 8
3. Directed along 45° to the surface/Jdg ¥ 45° HI01 &t fexn H gt §
4, Zero/X[™

Correct Answer :-

« Directed normally to the surface/ﬂ?l’s’a?ﬁaﬁl?[fﬁ?ﬁ%

73) The quantity which remain unchanged in a transformer is:/dg 1 ot ¢iERR ¥ sufvafda wgdt
z-

1. None of these /38 Q ®Is gl
2. VoItage/EﬁéTrr
3. Current/YRT

4. Frequency/3fIgft

Correct Answer :-

« Frequency/3igf

74) The gradient of a scalar field ¢ is:/ P 3ifew &F ¢ FTAfSAC a1 8-
1. A vector/Td I
2. A scalar/Ta& 31

3. None of these / 371 J PS8l
4. Either a scalar or a vector/ rar sifer ar at wfex

Correct Answer :-

« A vector/Ud Hfe¥l

75) If two vectors are linearly dependent then:/afe gt Afex Wwa: waxa g @
1. One is vector multiple of other/U®, WWW‘IW%

2. One is Scalar multiple of other /T%, TER BT AT U &

3. Sum of both vectors is zero/ G TR &1 TN T §

4. None of these/3T8 J H1s g1

Correct Answer :-

e One is Scalar multiple of other /U®, WW\H ¥ ‘IUW:T%



76) A Semiconductor is electrically neutral because it has/T® GaTa® fagedia U A Afera glar g
FifF ITS TNI-

1. Equal number of positive and negative carriers/SRTeR T&AT H YHTHD 3R FHUMHS dEP &

2. No free carrier/lil,'c|?-rf:|1€$:1'6°f%r
3. No majority carries/Sgi&d g gl ¢
4. No minority carrier/GﬁqﬁWW:l%‘T%

Correct Answer :-

« Equal number of positive and negative carriers/SRIeR T H 4TS 3R BUTHSD dEP &
77) The rain drop is spherical because of-/ﬂfﬂﬂ@ﬁWﬁ?ﬁ%WW—

1. Surface tension/ Yt Hdg

2. Force of gravity/ To@Id 80 &

3. Viscosity/ SO &

4. Atmospheric pressure/ IgHSHI GId &

Correct Answer :-

« Surface tension/ Yt Hdg

78) A heat engine absorb heat from source at temperature 127°c and release it to sink at 77°c
. The efficiency of engine is approximate will be; /T® ST 919 127°¢ TR S SHT GRNAT HR 77°¢ a1
Riw & Soa1 e 1Rya vt 81 919 3 T g8 8-

1.13%
2. 88%
3.39%

4.61%

Correct Answer :-

e 13%

79) For an ideal binary solution with P,%/Pg® which relation between X, (mole fraction of A in
liquid phase) and Y, (mole fraction of A in vapour phase) is correct , Xg and Yg are mole
fraction of B in liquid and vapour phase respectively : (Given: PA° > PBO)/ PA°/PB° CIGREICE
faarft faeraa & 1T X, (5@ AT o A &Y Hie i) quT Y, (arod Srawat & A Ft diet i) & 7w 9l I 81 Xg
TUT Y SHHT: %4 3R ary a1 & B &1 A g 81 (Rar man @ L0 > Pg0)

X Y,
Xa _Ya
1.¥2 Yg

2. XA > YA
3. Xa, Ya, Xg and Yg cannot be correlated/ Xa, Ya, Xg T YBW@H:@'QW%
4. XA = YA

Correct Answer :-



Xa  Ya
. Xg Yp

80) Platinum crystallizes in a face-centered cubic crystal with a unit cell length 'a’'. The

distance between nearest neighbors is:/mww-ﬁmwlﬁmmﬁm
THS HIPT B TETE 'a’ 8, a1 Fwvcad! Skt (Rrgail) & aeg ot g w7 ghft :

81) A planet moves around the sun in an elliptical orbit with semi-major axis ‘a’ and time
period ‘T’ then ‘T’ is proportional to-/T® Ug G4 &1 UReHT RIaaTHR U4 W e yg@ 3i&f a’ Fufka T
JTadPTd § a1 2, @ T JHUT §RTI-

1.al/2

4.a%/2

Correct Answer :-

82) The eccentricity of rectangular hyperbola is: / ATAATPR AfATRTTY Bl IPb=dl e:

1. \"IE

1
2.V2
3.0
4.1

Correct Answer :-

83) The coefficient of viscosity of an ideal fluid is: /T 3Te=f ava gerd & R zaran uni® gt 31
1. Infinite/ 3

2. Zero/ Y[
3. Positive / YdTHD



4. Negative/ BUTHD

Correct Answer :-

84) Speed of an object cannot be greater than speed of light in-/m?ﬂ‘g’?ﬁmﬁ, UBT &1 91 A
3ifere ¢t &) ol § 3AH |-

1. Both vacuum & medium/ fafq 3iR #regm gt o
2. Medium denser than air/arg ¥ SATGT U= A1eqH o
3. Vacuum/ fafq &

4. A medium/U& HTEgH |

Correct Answer :-

« Vacuum/ Fafq &

85) The asymptote parallel to x- axis for the curve y3 +x2y + 2xy2 -y + 1 = 0 is:/dP y3 +x3y +
2xy2 -y + 1 = 0 B} x- & P UM 3 W= 8:

1.y =2
2y=0
3 y=1
4.yx =1

Correct Answer :-

86) If the frequency of a wave is 150Hz and its wavelength is 20 cm then what will be speed of

this wave in air./3fe f&{ a3 #Y 3Mgfy 150 7 § 3R I a1 ¢ 20 cm B & IS 7ifa gar A B0fk-
1.7.5 m/s/7.5 H/&

2.75 m/s/75 /4

3.20 m/s/20 H/¥

4.30 m/s/30 H/4

Correct Answer :-

« 30 m/s/30 /3

87) If the total energy of an electron in hydrogen like atom in an excited state is —3.4 eV, then
the de-Broglie wavelength of the electron is:/gIgSIeIH JHM URHTIY] & T IWToTd a1 H TH sAdei
P Fd Hul -3.4 eV § @l FATH F S-aieht aanesf gra Fifom)

=
1 4 35 nm

2 4 68 1M



88) The antiparticle of electron is:/3aaCH &1 fAUdd HUT gHM:
1. Positron/ EIT%@'VH

2. Proton/‘f@vﬁ

3. Neutron/ﬂ@"f’f

4, Neutrino/?{i?fﬁ

Correct Answer :-

. Positron/qTﬁrIE'T:f

89) If (x,d) is a metric space, then (x, 2d) will be:/afe (x,d) me%aﬁ (x, 2d) BNM:
1. Metric space/mm

2. Quasi metric space/ddRl gId AP

3. Not a metric space/ww:@%

4. None of these/3-TH 4 ®1s ol

Correct Answer :-

« Metric space/glid THY

90) How many alkynes (total number of structurally isomeric alkyne isomers) on catalytic
hydrogenation give 4-Ethyl-2-methyl heptane:/ f&da TepIsa (GUTTd TehIsH & Had I¥aT
HHITAHY) SRS 1SS IRV TR 4-TId-2-AfIeeP a1 81

1.3
2.2
3.1

4.4

Correct Answer :-

91) The ratio of the weight of one litre of a gas to the weight of 1.0 L oxygen gas both
measured at S.T.P. is 2.22. The molecular weight of the gas would be:/ S.T.P. IR f&dl & dier
N BT UR 3R ATRATH F 1.0 L F YR HT 3JUTd 2.22 U gral 8 | 79 FT SI[HR FH:

1.71.04



2.35.52
3. 14.002

4. 55.56

Correct Answer :-

e 71.04

92) The mean of a poisson distribution is 4 then its variance is:/wwaﬁﬁmm4 %aﬁsﬂﬂﬂ
TR 8:

4.4

Correct Answer :-
e 4

93) Total number of possible structural isomers of C5H; ./ 3URIA C5Hy o EAATAS HHIGIAIT
T T = gt

1.8
2.11
3.10

4.9

Correct Answer :-

94) The Characteristic roots of skew - Hermitian matrix are either:/WﬁWBﬁ%ﬂﬂWﬁ?
fraerfres ga g g1 ara:

1. Pure imaginary or zero/ quWﬁG?UT?{-H

2. Pure imaginary or Non zero/ J0i SIeq-d IT 3=
3. Real or zero/dRdfdd 1 YA

4. Real or Non zero/dRdfde a7 3=

Correct Answer :-

« Pure imaginary or zero/ U;UTWWHTQBI

95) For BF; molecule which of the following is true?/BF5 U] & g o & & #19a1 9 82

1. B-atom is sp2 hybridised/ B-URH] sp? YHRd §
2. Observed B-F bond length is found to be less than the expected bond length/ Uf&d B-F &g TS, 3afe

sy TS O HH Ul TS B



3. All of these/d gt
4. There is a P - P™ pack bonding in this molecule/ T3 Gﬂﬁpﬂ— WHEFTUTEITGHHT%I

Correct Answer :-

« All of these/d g+

=0
O
Q
Q
2 0
Q
s
3. 0
O
O
4. @
Correct Answer :-
a
O
0

97) When a mixture of air and steam is passed over red hot coke, the outgoing gas is:/ Y&k d&

Db W A FF TP a1 9YT HTY BT fArgor yarfea foan simar @ o sl s ard 9 8
1. Producer gas/ 3dTG® 9

2. Water gas/ 9id 19

3. Coal gas/ﬁﬁﬁﬁ

4. None of these/ $TH I P15 gl

Correct Answer :-

« Producer gas/ 3diadh eS|

98) When a body is deformed, its internal energy-/9d ®I3 a3 fapd gl 8 dl ITP! SATARS Heti-



1. Decreased/ 9< Sl §

2. None of these /379 9 ®1S g

3. Increased,/ 9¢ Tdl &

4. Remains unchanged/W‘v‘lﬂHT&Eﬁ%

Correct Answer :-

« Increased/ §¢ 9T &

99) In a LCR circuit if ¢ is the phase difference between the current and e.m.f. then power
factor is:/T® LCR URUY & afg 4R 3R fa.a1. 900 & Aex ¢ FeAiaR 8 99 SHoll Yed T U §RII-

1. cot@
2. cos@
3.sing

4. tang

Correct Answer :-
e COSQ

100) LED is a P- N junction diode constructed by using semiconductor material/LED T& P-N Jfd

BTTS § WY 37 ST Ugrd A 9 9 -
1. Silicon/Rife® 1

2. None of these/39H ¥ 15 gl

3. Gallium Phosphide/fery ®idhe

4. Germanium/STHH

Correct Answer :-

. Gallium Phosphide/Iferad Bidhe



